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The ﬁgures in the right-hand mar'gm indicate ﬁdl mark,s

Canduiatesarerequued to give the:r answers in thetr '
own words as far aspractwable - '

Mustrate the answers wherever necessary

Anawer any two questmna ﬁ'om each group.

Gro.np — A
[Marks :.20]

Ahawer -any two questions.

' L. {a} Define an operating ay:atem."

®) What are the ‘objectives of operating system? Draw'
the layera of the computer system,
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What are the services provided by the operating
system ? ' '
Describe different types of the operating system with
example. 1+3+3+3
Briefly describe the different generation of the
computer systerh.

Describe the working function of the different

components of the computer system.

‘What is task bar in Microsoft Windows ?

What is start Menu in Microsoft Windows ?
. 4+4+1+]1

Write a C-program to add 3 and 4-5. Display the
result as 7-5. '

What is pre proceasor commands ? Describe briefly
different parts of a C-program.

What are Data types in C-language ? Describe any two
with example.

What is firewall ? . 4+3+2+1

C/15/M.Sc./2 Seme, /MCB-204 {Continued)




Group — B
[Marks : 20)
&, (a’) What are the application of Blomformancs in
o Biolog:ca.l sczence? '

(b} Give example of two protein and nucleot:lde sequence
database '

_‘(c) What are the situations to use local and global
ahgnmcnt? :

d) 'Deﬁne gs.p openmg & exu:nsmn penalty. .
' 3+(1+1)+(1+1)+(1+2)

‘8. Write down the algorithm folldwad"inthe dgvelbpement"'
of BLAST tool. What is the significance of e-value ?

6, (a) What are the lmportancea of Multlple aequencc
' - alignment ? : | '
(b) What is molecular clock'hypb't'hesia WhatisUPGMA? o

(c) How many rooted and unmotcd treea are posaible.'
from 7 taxas?
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(d) Write down about importance of substitution matrix.
To evaluate at the time of comparison of two distantly
related sequence, which series of PAM & Blosum will
be suitable to use? §

2+{(1+1)+(1+1)+(2+2)
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